Chapter 15

For technical assistance with ACL, please contact technical support: 604-669-4225; info@acl.com; 

http://www.acl.com/supportcenter/
(Note: Unless otherwise instructed, please submit your answers to the following problems to your instructor in a word processing document. Roger Company files can be downloaded from the  Course-Wide Content on the Student Edition of your text’s Online Learning Center.)
Problem 1

Common procedures that auditors perform are footing and cross-footing. Footing is the process of adding a column of numbers, and cross-footing is the process of adding a row of numbers. As was demonstrated in earlier ACL problems, footing can easily be done by simply selecting a column and pressing the button. Cross-footing, on the other hand, is not as easy. In the Roger_Company_Shipping table use the expression filter to determine if the Subtotal field and the Tax field add up to equal the Invoice_total field. Include the expression you used in your answer. What seems to be the reason why there are a few cases where the Subtotal field added to the Tax field doesn’t equal the Invoice_total field?
